Sec 13-2 | Angles in Standard Position: Coterminal Angles: Angles in standard position

. L that have the same terminal side.
o Vertex is at the origin

© One ray is on the positive x-axis.

0 0° is on the positive x-axis To find cotgrminal angles take the original angle
o Positive angles are measured CCW Y and: mAlipISSofiseg
Terminal Side Z'\"-
¢ — X0
Initial Side
!
Find_the measure O,f each a.ngle between 0° and 360° In which quadrant or on which axis does the terminal
that is coterminal with the given angle. side of each angle lie?
— a. 730° b. -130°
1. 470°~3 4o = 11O 2. 75° 12300 = /85 oady 300 156
o )
c. 990° d. 500°
3. 2450° = ) gy 4. -1370° ~ —0 —1o I
Py

e Tax



The Unit Circle:

A circle whose center is at the origin

and its radius = 1.
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Problems 17-19, 40-42, 46-49 r=1

Find the exact value of each: Tano
cosH & sind
y i Tano = M = _y
1 Cosp = Adileg _ x Sing = Oppleg _ Y T AdjLeg X
Hypot Hypot

(X,y) — (cos6,sinb)




1 ] 1 I
2 53
300 300
S S
2 2
Find the exact value of each: Find the exact value of each: P
1 2 =
1. Sin30° = + 2. Cos30° = - 1. Tan30c= 2 G 2. Tan60° = Z f
-] 2
_ 1 2
3. Sin60°= 4. Cosb0° = + \ -3
2 g \Y\ - E —
£
The First Quadrant of the Unit Circle sind =y
1 1 y et cosf =x
7 % (Q,L) B tang = ¥

J2
2
Find the exact value of each:
1. Sin45° & 2. Cos45° Q
< 2.

3. Tan 45° /l




Find the exact value of each:

©, 1) 1 V3 1. Sin 45° [L 6. Sin 0°
-t Lo 2‘\
2 2
(‘/_5"/_5 2. Cos 60°) 7. Tan 90° 1
2 2 = . O
60 G 2 AN Aokl
43 22 3. Tan 45°i 8. Tan 0° O
30 D

4 Tane0° (3 9 Sin90°

=
0° I(I,O) (77 I |

5. Cos 90? 10. Cos 0°
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